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EEh 1A E i 39 40 79 2.0 77.0 AE BGE
3L 548 Tl 41 40 81 3.0 78.0 AE
a1 #ftLE Bh— 42 44 86 8.0 78.0 AE
541 BH & 40 39 79 1.0 78.0 AE BGE
641 =8 FH 40 43 83 4.0 79.0
741 RIR R 46 45 91 10.0 81.0
841 AR AKX 45 46 91 10.0 81.0
9L W&t Rk 49 42 91 8.0 83.0
104 HHE 35 46 47 93 10.0 83.0
1142 Bl Bt 43 48 91 7.0 84.0
1241 [FEH FE 43 46 89 40 85.0
1341 'R ik 43 47 90 5.0 85.0
1441 il BEX 46 48 94 7.0 87.0
154 fEIE ZE5h 45 47 92 5.0 87.0
1641 =R IER 44 46 90 3.0 87.0
1741 =i BEX 45 52 97 10.0 87.0
184 IhNE —F 53 44 97 8.0 89.0
1941 rE —ik 48 49 97 5.0 92.0
204z 5H XE 51 52 103 10.0 93.0
214 FKRF 4 46 50 96 0.0 96.0
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1441 HE FEZ 47 47 94 16.0 78.0
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204z ER = 48 45 93 16.0 77.0
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2941 IR 2+ 47 52 99 19.0 80.0
304 TR T&E 49 4 90 9.0 81.0
314 HE BREF 50 45 95 14.0 81.0
324 BEH B2 45 47 92 10.0 82.0
334 AEy BEl— 44 48 92 10.0 82.0
3441 =ta —5h 47 45 92 10.0 82.0
354 FE B= 48 48 96 13.0 83.0
364 BAF BUT 45 45 90 7.0 83.0
374L FiE A= 45 40 85 2.0 83.0
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